®) customers are college students. You are
SZW) o Fin finding out which of W0 new progyc, | .
N Gl
- Is

is more i

(c) Your customers are'co!le.ge smde.ms, NGRS
interested in assessing their interest in a new prog,,
7.84 Identify the design. The following situatiop, .

ire inference about 2 mean or means. Identi

as (1) a single sample, (2) m.atched pairs, or (3) tw:ach
independent samples. Explain your answers,

(a) You want to estimate the average age of your e
customers. 5

(b) You do an SRS survey of your customers every,

year. One of the questions on the survey asks aboyt
customer satisfaction on & seven-point scale, with the
response 1 indicating “very d.lssa.tlsﬁed" and 7 indicagg
“very satisfied.” You want to see if the mean cus tOmern
satisfaction has improved from last year.
(c) You ask an SRS of customers their opinions op .
of two new floor plans for your store. ach
7.85 Number of critical food violations. The re; i
of a major city’s restaurant inspections are available
through its online newspaper.“ Critical food violations
are those that put patrons at risk of getting sick and mu:t;
immediately be corrected by the restaurant. An SRS off:r,
11 = 250 inspections from the collection of inspections
since January 2012 were collected, resulting in x
violations and s = 2.022 violations.
(a) Test the hypothesis that the average number
violations is less than 1.5, using a significar
State the two hypotheses, the test statist
3615 T
(b) Construct a 95% confidence ini
number of critical violations and sumz
(c) Which of the two summaries (
confidence interval) do you find
case? Explain your answer.
(d) These data are integers
data are also skewed to the
either a 0 or a 1. Given this i

Consider the following data set.:
collected in pairs, and each row

Group 1

48 86
50.60
51.02
47.99
54.20
50.66 2
4591 5
48.79
47.76
51.13

that we i
Sul post gn?“e the fq,
(a)ﬂgcted in pairs and mistakenly :;eglat the
co ple Problem. Compute the S
20 s 2ch group- Then compute e twolnean and
os of freedom, and P-valye fq,. th::”mple { statisgi

:;ernativ& 0-sideq g

w analyze the data in
e le mean and vari the proper y C
the samp arlance of the g; Y. Compuyte

z ompute the ¢ statistic, degrees of P :enms Then
1 f , and P

© pescribe the differences in the o B d Pvalye, .
Tesults,

-sample 7 test vers
78T TNO# us ma
onﬁnued. Refer to the previous ey ;_l:f:l Pairs ¢ tegt,
casier way to see the major e €. Perhapg
anﬂl}’SiS approaches for these data s € in the two

: : b g
95% confidence intervals for the meany d;;:xrputmg
€nce.

@ Compute the 95% confidence interval

sample ! confidence interval. using the two-

the 95% confid :
) Compute { ence interval us
mmatched pairs ¢ confidence interval, - using the

(c) Compare the estimates (that is, the centers of
the intervals) and margins of error. What is the
major difference between the two approaches for
these data?

7.88 Average service time. Another benchm

measured in the QSRMagazine.com drive-thar:ks‘:‘,z;was
described in Exercise 7.49 (page 430), was the servi ce'
time.®® A summary of the results (in seconds) for two of
the chains is shown below:

Chain n x s

Taco Bell 165 24038 363
McDonald’s 165 289.05 407

L3¢

e a difference in the average service time
two chains? Test the null hypothesis

s’ average service time is the same. Use a
level of 0.05.

%195% confidence interval for the
erage service time.

20 to Taco Bell

y part (b) likely t :
ey encounter? Explain your

of digital mindfulness ?rmm‘ ing.

dence that in-persen mindfulness

tress. Little is kx;w“;;iﬁ;tle?:

s ided digi g.

ﬁa@}f—gulded fg:ers randomized
training gxoup,or a

and Sam to McDonald’s.
o contain the difference

(@) Car
differe;
test stg
(Softw

(b) Ca
reduce
statist

7.90 |
exercj
(n=1
traini
this i
previ

1

som
othe
stud
that
fow
nes
his
ney
the
Tec
im

or

CHECK-IN

. Refer to Examples 10.2 (page 522)

glan who averages 9500 steps

, what would be the residual?

ated population regression
oman who averages 4000,
ppropriateness of using the
of these activity levels.

' 10.4 Significance test for the population slope. Test the null hypothesig
s that the slope is zero versus the two-sided alternative in each of the fq.

lowing settings using the o= 0.05 sig

(@) n=20, y =28.5+1.4x, and SE;, = 0.65.
(b) n=32, 9 =30.8+2.2x, and SE;, = 1.05.
Rt =167~ 29.3+2.2%,a0d SE;, = 1.05.

nificance level:




